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PID-3 is a list of identifiers. “Any iteration” means it can be any of the identifiers in 
the list. Here is what that looks like: 

 
https://mihin.org/wp-content/uploads/2022/06/MiHIN-UCIG-Common-Key-Service-v24-06-08-22.pdf 
 

 
 
 
The tilde (~) is what separates one iteration from the next. At each iteration, the 
components start over. In this example the first iteration PID-3.5 = MRN and in the 
second iteration of PID-3.5 = CKS.  
 
The message example above would be counted conformant for including CKS even 
though MRN is the first identifier in the list. 
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